BILINM
Lond

ABTOp: locmyxambeToBa JuHapa bynaTtoBHa

MaH: dusnka

CbIHbIN: 9-CbIHbIN

Benim: TepbenicTep xaHe TONKbIHAAP

TakbIpbin: MexaHVKasbIK XX9He 3/IeKTPOMarHUTTiK TepbenicTepre ecenTep LWblFapy.

MexaHuKanbIK XXaHe Bapnbik oKyLblnap: 6TKeH TakbipbinTap 6orbiHWa hopMyna, aHbikTaManapabl 6inyi baceim 6eniri:
3/IEKTPOMArHUTTIK dopmynanapabl, onapabl TYPJEHAIPY apKblibl eCeNTep LWblFapyAa kongaHa anybl Kelibip okyLibiap:
TepbenicTtepre ecentep JKMNEPUMEHTTIK ecenTep MeH Taxkipubenepai ecenten anybl

WblFapy.

Cabak 6apbichl

Cabak XKocnapnaHfaH ic-apekeT PecypcTap
Ke3eHpepi

CabakTbIH, 6achbl l.¥nbimpacTeipy 6enimi. 1.0KyLwbinapMeH amaHgacy. 2.0kyLblnapabl TyreHaey.

(5MnH) 3.Mcuxonoruaneik axyan TyfFbi3aMbiH. bananap 6ip-6ipiHe kapan, 6yriHri

cabakka CoTTiNiK Tinenai. (9kpaHfa kapan) «CaTTinik! Ypaun! Good luck!» Il. Yi
TancblpMacblH cypay. Mufa wabybln TaCiNi apKblibl Y XKYMbICbIH TECT
TancblpMacblH OpbiHAAY apkblibl cypaiMblH. Unit of period a)S b) m ¢) m/s
[eHeHiH Tene-TeHAiK KYNiHEH eH, YJIKEH bIFbICYbIHbIH, MAHIi XWiNik b) nepnop c)
amnautyga Number of vibrations per unit time period b) force c) frequency
YakpbIT eTKeH caliblH aMNAnTyfachl asalbin oTbipaTbiH TepbenicTep a) eweTiH
TepbenicTtep b) rapMmoHnkaneik Tepbenictep ¢) MexaHuKanblk Tepbenictep The
formula of a spring pendulum a) T=2nv(l/g) b) T=2nv(m/k) c) T=2nvLC

CabakTblH opTackl OkyLblnapFa cabakTbliH OyriHri Takbipblbbl MEH MakcaTbl @l ThbiAbIM,

(30 MuH) TyciHAipineni. Tepbenic Tapaybl Typasbl alTblsbiN, MblCaNAap KeNTipy apKblibl
oKyLblNapablH, TonTapFa 6eniHeai. OKylbinapFa ecenTep LWbiFapy YLiH eH,
angbiMeH hopMynanapblg Kantanay peTtiHae «Correctly write the formula»
(®opMynaHbl KypacTbip) TancelpMmack! 6epineni.®opmynaHbl Taybin, WaManapabl
aFbINIWbIH TiNiHAE anTy Kepek. 9p Tonka yw cdopmynaaaH (Correctly define the
formula and say the physical values in English) T=2nv(m/k) T=2nv(l/g) Ep=mgh
Ek=(m98"2)/2 ET=Ek+Ep T=t/n v=n/t T=1/( v) v=1/T Ka3akwa OpbiClia
AfbinwbiHWa Mepuopn Mepuop Period ¥3bIHAbIK OnvHa length EpkiH Tycy yaeyi
YckopeHue ceobogHoro nageHust Acceleration of free fall KuHetukanblk aHeprus
KunHeTunyackas aHeprus Kinetic energy MNMoTeHumanabik sHeprmns
MoTeHumnanbHasa aHeprus Potential energy Xuinik YactoTa Frequency YakbIT
Bpemsa Time Tepbenic caHbl Konnyectso konebaHuin The number of vibrations
Macca Macca Mass buikTik BoicoTa Heigt XXbingampabik, CkopocTb Velocity
KaTaHablk KoaddununeHTi KoaddununeHT ynpoyrocTtn Spring constant Tonbik,
3Heprusa MonHas aHeprusa The full energy ®opmynanapabl 6incek keneci «Who's
fast» pereH onblH apKblsibl ecenTep WhlFapaabl. YW Tonka ecentep bepineai.
Task 1: How many oscillation is equal to 25kHz frequency vibration swing 50s?
Task 2 : How many oscillations the period of oscillation of the body 2 minutes,
100C? Task 3: Sparrow 10 Hz frequency of oscillation of the wing . How many
vibrations will make it 1 minute in report? Task 4: Calculate the period of
9000cm long pendulum? Task 5: A 100g mass is attached to a 16 H/m spring.
Find to period of oscillations? Task 6: Find the period of oscillations of a 1m long
pendulum on the Moon. gmoon=1,62m/s2 Keneci TanceipmMa ap Tonka
3KCNepuMeHTTIK ecen 6epineni. Ton 6onbIN Kypannap apkbljbl ecentep
KypacTbipbin WbiFapy kepek.( In the next task, each group will be given
experimental tasks using tools.) 1-Ton: cepinne, XyK, LUTaTWB, CbI3FbILL
(maccacol 100 r, kaTaHablk 8H/M) (spring, load, tripod, ruler) 2-Ton: wTaTW.,
XKYK, Xim, cbi3Fbilw (Maccackl 100 r) (load, thread, ruler) 3-ton: cekyHgomep
(yakplT 1 MnHyT)( stopwatch)



CabakkeseH,pepi

CabaKTbIH COHbI
(5 MUH)

XKocnapnaHfaH ic-opekeT

Ynre Tanceipma 6epy. Ne12.1, 12.2, 12.3 Pechnekcus: «bafanay afalibl»
Okywblnap cebeTTeri anMa, ryn »xaHe »anblpak TypiHAeri XancblpmMa
Kafa3hapabl kabbipFafa iNiHreH asMa afallblHa XKancblpy apKblibl cabak
6onbliHLWa onnapbiH KOpbITaabl, MyHOafbl: * AnMa - 6yriHri cabakTaH TynreHim
oTe Ken, MaHbI3abl 6ongbl. * M'yn - 6yriH Ken HapceHi TyciHAiM, MaFaH nangansl
6ongabl. * XKanbipak - 6yriH cabakTa TyciHbereH cypakTapbiMm 6ap, oKybIM
Kepek.

PecypcTtap



